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HISTORY

Paper 111
Time Allowed : 2% Hours) [Maximum Marks ; 150

Note — This paper consists of Seventy five (75) multiple choice questions. Each

question carries two (2) marks. Attempt All questions.
1. Block-on-Block technique was introduced for the first time during :
(A) Palaeolithic period (B) Mesolithic period
(C) Neolithic period (D) Megalith period
2, The history of borers travells back to :
(A) Lowef palaeolithic period
(B) Middle palaeolithic period
(C) Upper palaeolithic period
(D) Neolithic period
3. Cup marks were introduced for the first time in :
(A) Lower palaeolithic period (B) Middle palaeolithic period

(C) Upper palaeolithic period (D) Mesolithic period
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4. Bone tools were introduced for the first time during :
(A) Lower palaeolithic period
(B) Middle palaeolithic period
(C) Upper palaeolithic period
(D) Mesolithic period
5. Corded red ware is associated with :

(A) Mesolithic period (B) Neolithic period

(C) Early Harappa period (D) Early historical period
6. Ash mounds are associated with :
(A) Kashmir region | (B) Baluchistan region
(C) Peninsular region ‘ (D) Ganga plain
; The earliest remains of architectural activities comes from :
(A) Tamilkam (B) Baluchistan
(C) Andhra Pradesh (D) Orissa
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8. The concept of headers and stretchers for construction purposes was intro-

duced for the first time during the period :

(A)

(C)

9.  Match the books of List T with the authors of List II and select the correct

Neolithic period

Megalithic period

(B) Chalcolithic period

(D) Bronze age

answer from the codes given below the lists :

(a)

(b)

()

(d)

List 1
Uttararamcharita
Devichandragupta
Venisamhara

Prahasanas Mattavilasa

Codes :

(A)
(B)
(©

(D)

@) @ @ ()
() ) @ W

@ @ @ G
G @ G G

@ @ G G

TBC2WIVET-III
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List I
(z) Bhavabhuti
(#1) Vishakhadatta

{1if) Bhatt Narayana

.(iv) Mahendra Vikrama
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10. The earliest representation of a ship is found on a rectangular seal from :

(A) Harappa (B) Dholavira
(C) Kalibangan (D) Mohenjo Daro

11.  Which of the following Harappan sites has revealed an unusual plan of city
comprising three separately demarcated areas of settlements within a common

fortification ?
(A) Dholavira (B) Lothal
(C) Balu (D) Kalibangan
12. Lustrous Red Ware was discovered for the first time at the site of :
(A) Lothal B) Rangamahal
(C) Ganeshwar _ (D) Jorwe
13. Bent bar coins were introduced for the first time during ?
(A) Vedic period (B) Eafly historical period

(C) Gupta period . (D) Chalukya period
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14. How many stupas were erected after the death of the Buddha as per the

Buddhist tradition on his corporeal relics ?
(A) 10 (B) 9
(C) 8 (D) 7
15. The early theme of the paintings at Bagl-_t and Ajanta was :
(A) Social (B) Religious
(C) Natural (D) Economic

16. Arrange the following in chronological order :

() Balathal (1) Jakhera
(riz) Rakhigarhi (fv) Lahuradeva
Codes :

(A) o G @ (iv)
(B) Gi) @ (v) G
© @ Go) Gi@) )

(D) Gv) Gi@) @) (i1)
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(A) gmfas (B) wifd=
(C) WiFHia® (D) 4=
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(i) =Enes (i) &2
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S
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17.  Arrange the following caves in chronological order :

({) Barabar (ti) Udaigiri

(fit) Aurangabad (iv) Dhumar Lena
Codes :

(A) ) (@@ G (v) (B) (v) Gi) (D ()
(©) G @ (fv) (D) Gi) G (w) @

18.  Match the terms of List T with their meanings in List Il and select the correct
answer from the codes given below the lists :

List I List 11
(@) Tondamandalama (i) Between Vengai and Tamraparni rivers
(b) Cholamandalama (if) Kaveri Valley and its delta
(¢) Pandyamandalama (iti) Northeastern part of Tamil Nadu
| (d) Neidal (iv) Coastal region
Codes :

(@ () (e) (d)
(A) (@) D) (&) (iv)
B) G @ () @)
€ vy Guw Q) (i)

(D) @ (iv) (i) (&)

TBC-20/15/ET-111 12
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(A) () @) (@) (iv)
(B) G @) () (i)
(C) () @ @) (1)
(D) ). Gv) () @)
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19, Match the books of List T with the authors of List IT and select the correct
answer from the codes given below the lists :

List 1

(@) Gita Govinda

(b) Sangita Ratnakara
(¢) Pragyaparmitasutra
(d) Saundranand

Codes :
(a)
(A) (i)
(B) (i)
() Gw)
(D )

(B)
(if)
(1)
(@)

()

(e)
(&)
(iv)
(i)

(iit)

(d)
(iv)
(iid)
(iz)
(i)

List TI
(i) Sarangadeva
(ii)y Jayadeva
(iti) Ashwaghosh
(iv) Nagarjuna

20. Match the words of List T with their meanings in List IT and select the correct.
answer from the codes given below the lists : '

List 1

(@) Dhaturanga
() Kumkuma

{¢) Haritala

() Terra verte

Codes :
(a)
(A) ()
(B) Gi)
(C) @D
o @

TRC-2015ET -1

(b)
(£d2)
(i)
(&)
(i)

(e)
(i)
(£)
(iv)

(1i7)

(d)
(i)
()
(i)

(iv)

List Il
(i) Red ochre
(1) Vivid red
(tit) Yellow ochre

(fv) Geru mati
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21. Assertion (A) : Large number of copper coins were issued in the Kushana

period and these were accessible to the people in general.

Reason (R) : Both copper deposits and their harnessing with the effective

iron technology facilitated minting of these coins.
Codes .

(A) Both (A) and (R) are correct

(B) Both (A) and (R) are wrong

(C) (A) is correct but (R) i§ wrong

(D) (A) is wrong but (R) is correct

22. Assertion (A) : There was a general decline of the urban centres during

and after the Gupta period.

Reason (R) : A serious decline in agrarian and non-agrarian production is

marked during this period.

Codes :

(A) Both (A) and (R) are wrong
(B) (A) is correct and (R) is wrong
{C) (A) is wrong and (R) is correct'

(D) Both (A) and (R) are correct

TBC-2015ET-1T1 16
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23. Assertion (A) : A large number of land grants were issued during and after

the Gupta period.
Reason (R) + This led to the agrarian expansion during this period.
Codes :
(A) Both (A) and (R) are wrong
(B) Both (A) and (R) are correct
(C) (A) is correct but (R) is wrong
(D) (A) is wrong but (R) is correct

24. Assertion (A) : Proliferation in the number of regional states is an

important feature of the early medieval period.

Reason (R) : In the absence of any over-arching state power regional

assertions became stronger during this period.
Codes :
(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong
(C) (A) is correct but (R) is wrong
(D) (A) is wrong but (R) is correct

TBC-20/15/ET-III 18
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26.

Match the sites of List I with the rivers of List II and select the correct answer

from the codes given below the lists :

List I
(@) Kalibangan
(b) Ropar
() Mehr’garb
(d) Lothal

(e) Alamgirpur

Codes :

(@  (b)
(A) (@) (w)
(B) @) (@)
(C) Guv) (@)
m @ O

(e)

(v)

(fv)

@)

(i)

(&)

(i)

(zie)

(iv)

(v)

(d) (e)

(@) @)

List 11
Hindon
Ghaggar
Bhogavo
Sutlej

Bolan

(2) (v)

) (#2)

(i7) (iv)

Tomb of Nawab Safdar Jung is located at :

(A) Lucknow

(C) Gorakhpur

TBC-20/5/ET-II1
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27. The fort of Agra and the Palace city of Fatehpur Sikri were built under the

patronage of :
(A) Babur (B) Akbar
(C) Jahangir (D) Shah Jahan

28. Sironj was known for production of :

(A) Tobacco (B) Sugar

(C) Indigo (D) Coconut

29. Present time of Aligarh in medieval period was known as :

(A) Baran ' (B) Lakhnauti

(C) Awadh (D) Kol

30. Farman could be issued only by :

(A) Sadr-us-Sudur (B) Emperor

(C) Amir (D) Wazir

TBC-20/15/ET-III 22
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31, In medieval India Islamic law (Shariat) and Dharamshéastra both shared

tolerance of :
(A) Worship of idol
(B) Polygamy and unrestricted concubinage
(C) Killing of animals
(D) Eating of pork
32. In Vijaynagar, the nayankara system was seemingly modelled on :
(A) Iq_ta (B) Suyurghal
(C) Watan jagir (D) Altamgha jagir

33. The terms ‘Khut’, ‘Mugaddam’ and ‘Chaudhary’ in the Sultanate period

referred to :

(A) Big Rajput Chiefs

(B) The rural intermediaries

(C) Officials of the judicial department

(D) Post carriers

TBC-20NET-11 24
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(A)  Hfd g
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34. In Sufl terminoclogy Wilayat means :

(A)

(B)

()

(1)

Foreign territory
Spiritual territory
Agricultural land

None of the above

36. Fotaedar or Potedar was an official :

(A)

(B)

(C)

()

Treasurer

To measure the land

to assoss the land revenue

to maintain law and order

36. Jital was & ;

(A)

(B)

(C)

(1

Copper coin of Delhi Sultanate
Silver coin of Delhi Sultanate
Brass coin of Vijayanagar Empire

Bronze coin of Bahmani Empire

TEC-20/16/5T-111 26
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(A) fadsft y-a3
(B) smumfegs y-4=
(C) wfu gfF
@) IvfF 7 A T
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(A) wtst
(B) 9m = e o0
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36. Siad o1 uw
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37. One of the important segments of the European feudalism not found in the

South Asia’s feudalism is :
(A) Fiefdom or Jagirdar
(B) Sérfdom
(C) Slavery

(D) Proletariate peasants

38 Who amongst the following belonged to Suhrawardi Silsilah ?
(A) Shaikh Bahauddin Zakaria
(B) Shaikh Qutbuddin Bakhtiar Kaki
(C) Shaikh Yahya Maneri .
(D) Shaikh Ahmad Sirhindi

39. Fawaid ul Fuad, a record of doings and sayings of Shaikh Nizamuddin Auliya

was written by :
(A) Hamid Qalandar (B) Mir Khurd

(C) Amir Hasan Sijzi (D) Shams-i Siraj Afif

TBC-20M5/ET-11T 28
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40. Which one of the following pairs is not correctly matched ?

(A) Bhandarkar Oriental Research Library (i) Pune

(B) Khudabaksh Library (1) Patna
(C) National Museum (zi1) Delhi
(D) Indian Institute of Advanced Study (iv) Dharmshala

41. Dhameri was renamed as :

(A) Jahangirpuri (B) Nurgarh-

(C) Salimgarh (D) Nurpur
42. Ain-i-Akbari was compiled by :

(A) Mulla Abdul Qaadir ‘Badaun.i

(B) Nizamuddin Ahmad

(C) Abul Fazl

(D) Arif Qandhari

TBC-20/15/ET-11I 30
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(A)

(B)

(C)

(D)
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e AEad

e =Ee
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(A)

(C)

SR
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(B)

(D)
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(A)

(B)

(C)

(D)
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e s

Sk S

FF FHl
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43. The Natyashastra laid down rules for dance too. But for the physical poses

and movements of Indian classical dances, our evidence comes from :
(A) Pa'u;tings ‘ (B) Sanskrit literature
(C) Sculpture (D) None of these
44. Chaudhary was a title applied to a zamindar such as :
(A) Primary (B) Autonomous
(C) Intermediary (D) I\;one of these

45. Given below are two statements, one labelled as Assertion (A) and other labelled
as Reason (R) :

Assertion (A) : The art of painting reached its highest watermark during

Jahangir’s reign.
Reason (R) : He was not interested in other forms of art.

In the context of above two statements, which one of the following is

correct ?

Codes :

(A) Both (A) and (R) are trﬁe and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(é) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
TBC-2011ET-111 32
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44, 90 uH e & S W gHieR A @ S 9 | e @

(A) EHd (B) HEFmE

(C) seifsed (D) ¥ B FE T

45. 9 9 ge9er B MU, uH W HUA (A) AR s g F @ (R) FH

™ OE e

Fa (A) : TR R W H e o S w we T |
HROT (R) : 3% @ fpedt o we &t wen # 9 & w@@ o |
s wed & wal @ FE F R S owe w@ R 2

&<

A) (A) #r (R) 2 wm ¥ #R (), (A) F @ wmem ¥
(B) (A) 3R (R) 3 7= & &f6a (R), (A) =1 W& =ne T @
(C) (A) 9= & @f%7 (R) o0 &

(D) (A) s@e &, @fFa (R) ¥ ¢
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46. The concept of ‘Sanskritization’ was propounded by :
(A) G.W. Friedrich Hegel (B) Karl Marx

(C) M.N. Srinivas (D) Max Weber

47. Mateh List I with List IT and select the correct answer from the codes given

below :
List I List 11
(@) Shaikh Nizamuddin Auliya (i) Fawaid ul Fuad

(b) Shaikh Nurul Haq Dehlvi (i) Majma ul Bahrain

{¢) Shaikh Ahmad Sirhindi (¢ii) Akhyar ul Akhyar
(d) Dara Shikoh (iv) Maktubat-i-Imam Rabbani
Codes :

(@ (B (c) (d)
(A) @ (if) (i)  (w)
(B) @) Gy  w) G
(C) () (i) (2) (iz)
(D) @) @ (if) (iv)
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46. umFfasm # faaum &1 wfomen oy e a7

(A) . TEg. wigw dma

(C) uH uA. sifsEm

HE HEE

B ey

47. g 1 g 11 @ gifew @ifau ek e 32 @ wd I ow 9 &

= 1
(@ g FromEE shfem
(®) g JEG TH el
() ¥ra@ Ieae wifEst
(d) = fiers
o<

(@ (b (c)
a o @ G
(B) @ @@ ()
(C) ) @ 6
(D) @) (@ (&)
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(i)

(1)

(iv)
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48, Raja Basu, the chief of Dhameri was in Mughal emperor Jahangir's service

and held the Mansab of :

(A) 1500 to 3500 (B) 1000 to 1500

(C) 2000 to 3500 (D) 3000 to 4500

49.  During the reign of Shah Jahan in 1641-42, Prithvi Chand, the ruler of Chamba

was granted the Mansab of :

(A) 1000/500 (B) 1000/400

(C) 2000/1000 (D) 1500/1000

50. According to Al-Beruni, the Antyajas were :

(A) Hadi, Dom and Chandala caste of people

(B) Foreigners

(C) Eight guilds of people below the Shudras

(D) Prostitutes
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49.

50.

oBR B W TS A Y g GEIE Seri w1 emia e @ ooft et S8

waa e 91
(A) 1500 | 3500 (B) 1000 ¥ 1500
(C) 2000 | 3500 (D) 3000 F 4500

sl ® e § 164142 # w1 § WES gt W% B wEE W9

B
(A) 1000/500 (B)y 1000/400
(C) 2000/1000 (D)  1500/1000

Fe-aEAl ® HIEE HEE 9
&) T, Zm A dee Wl @ W
(B) faeeit

(©) Y@ § 9 o fiesi & =i

(D) Svand
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51.

b2.

53.

54.

By the 1740s which of the following European companies emerged as the

main rival of the English East India Company ?

(A) The Portuguese (B) The Dutch

(C) The French (D) The Swede

Who was the Nawab of Awadh at the time of the battle of Buxor ?
(A) Alivardi Khan (B) Saadat Khan

(C) Safdar Jung (D) Shuja-ud-daula

According to the Treaty of Amritsar (1809) which of the following rivers was

aceepted as the boundary line for Ranjit Singh’s dominions :
(A) Beas (B) Sutlej
(C) Rawvi (D) Indus

He wanted to create “a class of persons Indian in blood and colour but English

in taste, in opinions, in morals and in intellect” :
(A) Nicholas B, Dirks (B) Lord Macaulay

(C) William Jones (D) William Carey
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51.

52.

53.

54.

T 1740 % <o% o frefafae gida sufE 4 | e it 3= sfea s

# wpE whEd & w9 8 3wl ?

(A) e (B) =%

(C) W9 (D) e

TR F YG F GHE FEY H AR HA A ?

(A) Rt | (B) ®Em &l
(C) FHeX 1 (D) -3

s F1 w4y (1809) & aEn frfafas ofedi § @ ot 78 + onia fow
F WY A9 H 9w T wier fEE o ?

(A) =H (B) waed
(C) =t (D) fau

T% T R 9 CEfEdl 1 o9 W @@ oad 99 8§ anda @ s wfs,
ol Afwensl aen shfgear § 3w @Y

(A) Feem & femy (B) w@E A&

() faferm = (D) fafemy &4
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55. The English East India Company was divested of its commercial functions

by :

(A) Charter Act, 1813

(B) Charter Act, 1833

(C) India Councils Act, 1861

(D) Queen Victoria’s Proclamation

56. Which of the following is correctly matched 7

List 1 List II
(A) Wood’s Dispatch - 1835
(B) Hunter Commission 1882

(C) Indian Universities Commission 1854

(D) Hartog Commission 1946

57. Who has described the uprising of 1857 as the First War of Independence ?

(A) R.C. Majumdar (B) S.N. Sen

(C) James Outram (D) V.D. Savarkar
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55. zmE g o o ifem wut W SuS ogEEitas fEa-wend § afan

R | B

(A) Y UE, 1813

(B) W& W, 1833

() dfeam Hiefaes T, 1861

(D) TEoE a2 = g

56. Trefafeas # 4 v gafem & 2

gt 1 gt 10
(A) gzu fedm 1835
(B) w2 wHiee 1882
(C) Ifema gfmfifzs FHwm 1854
(D) EEm HHYA ~ 1946

57. W 1857 & fawE @ w9n @dam @9W % w9 # 9vF fEw e g 2
(A) I H. TEEER (B) UH WA I

(C) v ey 1 & F wEE
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59.

60.

Who among the following is the author of Ghulam-giri ?

(A) Jyotiba Phule (B) Badruddin Tayyabj

(C) Keshab Chandra Sen (D) Bhaskarrao Jadav

His efforts led to the enactment of the Age of Consent Act, 1891 :
(A) Swami Vivekananda (B) Ishwarchandra Vidyasagar
(C) S.S. Bangalee (D) B.M. Malabari

Match List I with List IT and select the correct answer using the codes given
below :

List 1 List 11
(@) Jute industry () Bombay
(b) Coai industry {(it) Serampore
(¢) Cement industry (iii) Madras
(d) Cotton industry (iv) Raniganj
Codes :

(@) (&) (¢) (d)
(A) @) o) (@) @
(By () () @) ()
(C) () () (i) (1)

D) @ @ W (iv)
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58, frefafes # wem-fidt s s & @i 56 8 2
(A) T (B) ageeM foaasi

(C) HvEas o (M) WERTE Sed
59. TTH WA % URomrEEd uS e el R, 1891 &
(A) T fEEeTE (B) svaras femmamm
(C) THIE. = D) A A
60. g I W gE 11 ¥ ghfem wifwg w wfed & A9 Ru ooz {owE

I FH H9F4 Hifwg

et 1 et 11
(@ e F=m () ==
(b) FrEE M (i) HEE
(¢) Hide @M (i) W=
(d) a9 FEm () TS

iz

(@)  (b) (c) (d)
(A) @) (v G @)
(B) () (i) ) (&)
(C) G&) (v G (@)
M @ @) @ ()
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81. In the 1880z and 90s, two principal issues behind communalism were :
(A) Khilafat and cow profection
(B) Cow protection and Urdu-Devnagri controversy
(C) Tabligh and Tanzim
(D) Shuddhi and Sangathan

62.  Which one of the following tribal leaders was regarded as an incarnation of

God and Father of the World (Dharti Abba) ?

(A) Kanhu Santhal (B) Birsa Munda

(C) Joria Bhagat (D) Rupa Naik
63. Consider the following lines :

“The historiography of Indian nationalism has for a long time been dominated

by elitism—colonial elitism and bourgeois nationalist elitism.”

These lines reflect the basic issue of which school of historiography ?
(A) The Cambridge (B) ‘The‘ nationalist

(C) The Marxist (D) The sub-altern
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61. T 1880 941 90 F = H yHEEER & @ WA 5 4
| (A) faered 59 W @

(B) T wan wm %2 -FaArdt fafa faaw

(C) wafem adn iy

@) e T HET

62. Trefafas semdg J@e 4 d @8 gran %1 9 a9 GuE & fOa (9Tt o)

£o k1 1 10 =1

(A) HFF [ge (B) fawn e

(C) =ifEn 9 (D) ®9 AGH
63. foeafafas dfe w A w=iE

“urdty AR & sfiem e R Sfyeae-siufate afieear G gEen

Teganet wAfqeaar &1 TEeE W o 1
W @ § oshew dEw % R e wmwnyd 9 wiafafea w2
(A) Hfss (B) Trezam

(C) wEgaEt (D) wa-aned
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64, In which year Bal Gangadhar Tilak started the Shivaji festival ?
(A) 1890 (B) 1894
(C) 1896 (D) 1899

65. The famous Ghadar Movement began in 19}3 from :
(A) San Francisco (B) Texas

(C) Amritsar (D) Calcutta

66. Michael O'Dwyer was the Governor of Punjab when the brutal firing on the
innocent people at Jallianwala Bagh Amritsar was ordered. Who among the

following killed him ?
(A) Bhagat Singh (B) Udham Singh
(C) Madan Lal Dhingra (D) Lala Hardayal

67. Who was elected the president of the All India Trade Union Congress (AITUC)

in 1920 ?
(A} Mahatma Gandhi (B) C.R. Dass

(C) Lala Lajpat Rai (D) B.P. Wadia
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64. @@ TR foem 7 foesh oy owd wey fe 2
(A) 1890 (B) 1894
(€) 1896 (D) 1899
65. WiEE TR Serem §q 1913 H W | IE g e
(@A) i _ (B) ZHE
© s D) FEE

66. Tom Twa spee & Wiogeen 4 # R @ W efE w0 o

T TW WHE AR S T TeE @ e a1 | frafafee d R R s

Tl H 2
(A) wma faz (B) @&wuw fae
(C) TEAwE 20T (D) &=n BEaE

67. T 1920 # atw ifew Iz g @M (TaEAgE) ® oA B fraifaa

T ?
(A) WER T (B) H. FW. =™
(C) e weva d (D) st anfeEm
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68. Indian Statutory Commission is popularly known as :
(A) Ramsay MacDonald Award
(B) Cabinet Commission
(C) Montegue Chelmsford Reforms

(D) Simon Commission
69. Gandhiji undertook Dandi March from Sabarmati to the sea from :
(A) 12 March to 12 April 1930
(B) 12 March t;o 6 April 1930
(C) 6 April to 12 May 1931
(D) 12 March to 6 April 1931

70.  Subhash Chandra Bose was elected president of the Indian National Congress

for the first time in :
(A) 1938 (B) 1939

(C) 1940 (D) 1945
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68. YRGg Wifaivs 3mE w39 AW J o s oS % o
(A) TR WaEEEE sEE
(B) fae zmm
() wRg-TEE gun
(D)  WEHT STRE
69. TilHE 7 WECW | WEE W S0 W W o
(A) 12 =E & 12 ¥ 1930
(B) 12 w4 és sider 1930
(C) 6 3m@ ¥ 12 7 1931
(D) 12 74 F 6 %7 1931
70. Wﬁnﬂmn@am%,mmrmgﬁ:
® g i, o S i
() 1940# M) 1945 F
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71.  Indian National Congress launched the Quit India Movement in 1942. Which

of the following parties did not support it ?
(A) The Communist Party of India
(B) The Unionist Par y in the Punjab
(C) The Hindu Mahasabha
(D) All the above
72. Arrange the following in correct order :
(@) Formation of Indian National Army
(b) Royal Indian Navy Mutiny
(¢) Indian National Army Trials
(d) Rajgopalachari formula

Select the correct answer from the codes given below :

L)
v

(A) (d), (b), (@) and (c)
(B) (a), (d), (¢) and (b)
(C) (b)), te), (d) and (a)
D) (a), {e), (b) and (d)

TBC-20N5ET-11 50



71.

72.

WE T w3 1942 § vra 919 aidem wey fe | Frefatae @

# 3 fagd sow guda W fE 2

(A) YrEE FEfRE 9@

B) tema # gFEbtRE @@

() fig wemw

(D) IefE m

frefofas = o w9 § swafem #ifa
@ wew T we = A

(b) uwdm wE A w R

© o iR W F e

(d)  TSFIOEER] Hre

frafafen =230 § | @ s %1 999 Ffag .

(A)  (d). (b), (@) 3T (2)
(B) (a), (d), (¢) 3 (b)
(€)  (B), (e), (d) 3 (a)

(D) (@), (), (b) W (@)
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73.  Mateh List I with List IT and select the correct answer using the codes given

below

List 1T

(i) Anushilan Samiti

(1) Social Reformer

(ii1) Yugantar

List 11
(@) B. Ghosh
(b) Pramatha Mitra

(¢) Khudiram Bose

(i) Revolutionary Terrorist (d) M.G. Ranade

Codes :
(@)
(A) )
(B) (b)
(C) f{a)
(D) (e}

(i)
(6)
()
(b)
(d)

(zét)
(a)
(a)
(e)
{a)

(i)
(e)
()
(d)
(®)

74.  Given below are two statements, are labelled as Assertion (A) and the other

labelled as Reason (R) :

Assertion (A) : Awadh was annexed by the FEast India Company.

Reason (R) : It was occupied on the charge of mis-governance.

In the context of the above statements which of the following is correct ?

(A} Both (A) and (R) and true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A}

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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73. qﬁlm@n@mﬁaﬂhqamﬁﬁﬁﬂﬁmmmgq@
W Eifsy .

gt 1 et 11
()  FEfem Tl (@) 1. =Hm
(i) HwE TR (b) wma foz
(€i) =i (¢) wEEH @19
(fv) =TT 2TERar (d) UHST TR

wHE
@ @ D G
A @ ® @ (©
B) b @ (@ ()
©) @ @& (© D
D) (&) @ (@ (B
74. ﬁ%amﬁqmﬁ,ma’rW(A)mw%ﬁR@iaﬁm(m:
T (A) - T2 e FwEE g @y W osfusn # fem T o
FOT (R) : HIEA & 3 F 5w swfusw @ o
Il wE ® e § frefafom d @ e wd R
(A) (A) oM (R) 31 @ & wan (A) 91 9d =59 (R) 2
(B) (A) 3 (R) 2Fi =d # oy (A) 1 w1 =@ (R) 7@ 2
(C) (A) @@ & f&g (R) 7om &

(D) (A) 7a 2 6 (R) &8t %
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75.  Given below are two statements, one labelled as Assertion (A) and the other

labelled as Reason (R) :

Assertion (A) : In 1923 the Swaraj Party was founded,

Reason (R) : They were against the Congress policy of council enfry.

In the context of the above statements which of the following is

correct ?

(A) Both (A) and (R) and true and (R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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75. ﬂ%awmmt.@@mmmmtﬁn@ﬁm

(R) :

FIT (A) : 1923 § =S W H TG H T |

FAOT (R) : 3 Fi8 W = Fietad 8 waw # AfG & &G oA

s A el B wa § Preferen § 9 S W@ b o2

(A) (A) 3l (R) F1 ©dt & a= (A) #1 =@ = (R) ¥

(B) (A) 3R (R) 2F 8 £ farg (A) #7 w& =men (R) 76 #

© (A) =& ¥ g (R) 7o B

(D) (A) Toa ¥ TH (R) W8 %
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